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ih A PE Hi wmH | Wkoe | A Sy e il e g1
N AbifEE 10. 00| AHxf 120 1,200| 1,998| 1,890 1,836
HOR ™ 5 5. 00| FH*} 10 500 3,240 1,933] 1,080
H ¥ £ ¥ 15. 00| fHxf 518 7,770 2,916 1,558| 1,296
X H D BB 10. 00| FH%f 400 4, 000 1,156 1,131 1,058
E O NAK £ ¥ 4. 00| FHx*} 42 168| 6,264| 6,202| 5,832
H % 5 B 3. 00| fHx} 191 573 1,836 1,479 1, 080
H A [l R 1. 00| fHxf 160 160| 2,700 2,050 486
& I | so0| kx| 2] 10| 4,320] 3,318] 2,376
AN w5 5. 00| FH*} 135 675| 3,456| 2,757 1,296
N A 0.40| FERF | 60 304 194 73] 124
LE L =g 4. 00| FHx} 627 2,508| 3,456| 2,754| 1,404
[ I\ & 5. 00| fHx} 15 75| 2,268 1, 850 1,188
= | 5.00] fA%f| 397| 1,085 2,376| 1,862| 1,188
v— =g 0. 15| #Hxf | 2,700 407 130 119 49
~_F b= b by 3. 00| fHx} 342 1,026 4,104 3,784| 2,160
ot AbifEE 0. 10| FHxf 60 6 270
H 7% w5 5. 00| fHxt 138 690 2,160 1,846| 1,188
5802 AbifEE 10. 00| AHxf 460 4,600 1,620 1,330 1,080
A—0 4 Ak 10. 00| FH%f 98 980 1, 296
B F = 10. 00 | FH%f 75 750 4,320 3,542| 3,024
£ A AbifEE 20. 00| FHx} 101 2,020 3,024 2,857 2,592
& | 10.00| #EXF| 257 2,570| 2,160| 2,018 1,080
LA A £ ¥ 10. 00| FAXF 531 5,310 2,160 1,782
P=—LF X E ¥ 4. 00| FHx*} 410 1,640 3,240 1, 620
AEHEE w5 0.10| #B%f | 2,550 255 162 108 54
ZDXH B 5t 0. 20| FHx} 750 150 86 71 67
LU &k ¥ 0. 20| FHx} 300 60 92
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DOND H & 10. 00| FA%f 120 1,200 4,644| 3,558| 2,974
Bk wmoE 10. 00| AH*} 50 500 4,644| 4,104 3,564
| 10.00] FERF|] 3000 3,0000 4,860 4,464| 4,104

B A — % ] L 2. 00| FHx*} 17 34| 2,376] 1,550| 1,296
(2P S & 0. 60| FHxf 36 22 486 451 432
@l | 0. 30| 4% | 530 174|367 324 281

e =g 10. 00| FHxf 11 110| 14,040| 10,898| 9,720
Avava 7 4 UE | 13.00| fH%F 20 260 3,726 3,569| 3,132




